Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

5,894 3 1,474

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jenny COLLINS	Scottish Green Party	275
Margaret KENNEDY	Scottish Liberal Democrats	2,401
Karen Alison MARJORAM	Scottish National Party (SNP)	1,064
Helen MARTIN	Scottish Labour Party	234
Tony MIKLINSKI	Scottish Conservative and Unionist	1,561
Steven Mitchell SIMPSON	Scottish National Party (SNP)	359
	Total	5,894

Candidate Margaret KENNEDY Elected with 2,401 votes, being in excess of the quota of 1,474 Candidate Tony MIKLINSKI Elected with 1,561 votes, being in excess of the quota of 1,474

Ward 20 - Cupar

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Margaret KENNEDY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jenny COLLINS	469	0.38608	181.07152
Transfer to Margaret KENNEDY	0	0.00000	0.00000
Transfer to Karen Alison MARJORAM	316	0.38608	122.00128
Transfer to Helen MARTIN	755	0.38608	291.49040
Transfer to Tony MIKLINSKI	0	0.00000	0.00000
Transfer to Steven Mitchell SIMPSON	57	0.38608	22.00656
Value of non-transferable ballot papers			310.43024
	Total		927.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Tony MIKLINSKI

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jenny COLLINS	201	0.05573	11.20173
Transfer to Margaret KENNEDY	0	0.00000	0.00000
Transfer to Karen Alison MARJORAM	42	0.05573	2.34066
Transfer to Helen MARTIN	411	0.05573	22.90503
Transfer to Tony MIKLINSKI	0	0.00000	0.00000
Transfer to Steven Mitchell SIMPSON	13	0.05573	0.72449
Value of non-transferable ballot papers			49.82809
	Total		87.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Steven Mitchell SIMPSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jenny COLLINS	1	0.05573	0.05573
Transfer to Jenny COLLINS	5	0.38608	1.93040
Transfer to Jenny COLLINS	23	1.00000	23.00000
Transfer to Margaret KENNEDY	0	0.00000	0.00000
Transfer to Karen Alison MARJORAM	323	1.00000	323.00000
Transfer to Karen Alison MARJORAM	26	0.38608	10.03808
Transfer to Karen Alison MARJORAM	5	0.05573	0.27865
Transfer to Helen MARTIN	2	0.05573	0.11146
Transfer to Helen MARTIN	6	0.38608	2.31648
Transfer to Helen MARTIN	5	1.00000	5.00000
Transfer to Tony MIKLINSKI	0	0.00000	0.00000
Value of non-transferable ballot papers			16.00025
	Total		381.73105

N.B. The figures may not add due to rounding.